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STAT 472 

Test 2 

Fall 2019 
November 5, 2019 

 

1. Jeff is (72).  He has 800,000 and wants to buy an annuity to fund his retirement. 

 

Assume that mortality follows the Standard Ultimate Life Table with interest equal to 5%.  

Further, assume that deaths are uniformly distributed between integral ages. 

a. (4 points) If Jeff decides to buy a whole life annuity due with annual payments, the 

annual payment will be 70,500 to the nearest 100.  Calculate it to the nearest 1. 

 

 

 

 

 

 

 

 

 

 

b. (6 points) If Y  is the present value random variable for the annuity in a., determine the 

[ ].Var Y   
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c. (8 points) Jeff is also considering a certain and life annuity due with annual payments.  

The payments for first 15 years are guaranteed to be made.  Payments after 15 years 

will continue if Jeff is alive.  Determine the annual payment under this annuity. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

d. (4 points) The annual payment under the annuity in c. is less than the annual payment 

under the annuity in a.  Given that this is that case, why would Jeff consider annuity in c. 
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e. (8 points) Jeff decides he wants to maximize his income over the next twelve years so he 

buys a 12 year term life annuity due with monthly payments.  Determine the amount of 

the monthly payment. 
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2. (10 points) Bailey is (92) and buys a whole life annuity with non-level annual payments.  A 

payment of 1000 is made at age 92 if Bailey is alive.  A payment of 2000 is made at age 93 if 

Bailey is alive.  A payment of 3000 is made at age 94 if Bailey is alive.  The payments continue to 

increase in the same pattern for the rest of Bailey’s life. 

 

You are given: 

a. 0.9v    

b. 92 92

( 1)
 for 0,1,2  and =1 for 2

3
t t

t
q t q t 


     

If Y  is the present value random variable for Bailey’s annuity, determine the [ ].Var Y   
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3. (10 points) Ranya is (60) and purchases a 20 year term insurance.  The term insurance has a 

death benefit of 100,000 paid at the end of the year of death.  Premiums for the policy are paid 

monthly for 5 years. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table with 5%.i    

b. Monthly annuities are determined using the two term Woolhouse formula. 

Calculate the monthly premium for this policy. 
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4. (8 points) Taylen is (70) and buys a whole life insurance policy with a death benefit of 50,000 to 

be paid at the end of the year of death.  She will pay premiums annually for life. 

 

You are given: 

a. 0.95v    

b. 70 0.010q    

c. 
71 0.012q    

d. 71 11.5a    

Calculate the premium for Taylen’s policy. 
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5. Beau is (45) and buys a whole life policy with a death benefit of 70,000 paid at the end of the 

year of death.  Gross premiums are paid annually.   

You are given that mortality follows the Standard Ultimate Life Table with interest at 5%. 

 

The expenses for Beau’s policy are: 

i. Commissions of 60% of gross premium in the first year and 8% of gross premium 

in all years after the first; 

ii. Issue expense of 74. 

iii. Maintenance expense of 34 at the beginning of all years including the first year. 

iv. A claim expense of 750 paid at the end of the year of death. 

 

a. (8 points) The gross premium based on the equivalence principle is 720 to the  

nearest 10. Calculate the gross premium based on 1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b. (6 points) If the gross premium was 750, determine the expected gain or loss at issue of 

the policy.  Be sure to state whether it is a gain or loss. 
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c. (8 points) Let 0

GL  be the loss at issue random variable based on a gross premium of 750.  

It is possible to write an expression for 0

GL  as 45

45

1

1

K

K
Av Ba C




   .  Determine 

,  ,  and .A B C   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

d. (8 points) Determine the 0[ ].GVar L  
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e. Without doing any additional calculations, state whether the 0[ ]GVar L  would increase, 

decrease or remain the same, if each of the following occurred without any other 

changes to the policy assumptions or premiums? 

i. (2 points) The gross premium was increased. 

 

 

 

 

 

 

 

 

 

 

 

 

ii. (2 points) The claims expense was decreased. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

iii. (2 points) The first year commission was increased to 65% 
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6. (6 points) Brett is (35) and is receiving a whole life annuity due with annual payments.  The 

payments at the beginning of the first 10 years are 10,000.  The payments during the second 10 

years are 20,000.  After 20 years, the payments are 5000 for as long as Brett is alive. 

 

You are given that mortality follows the Standard Ultimate Life Table with interest equal to 5%.   

 

Determine the actuarial present value of Brett’s annuity.  
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STAT 472 

Test 2 

Fall 2019 
November 5, 2019 

 

1. (10 points) Maddie is (50) and purchases a 20 year endowment insurance.  The endowment 

insurance has a death benefit of 50,000 paid at the end of the year of death.  Premiums for the 

policy are paid monthly for 5 years. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table with 5%.i    

b. Deaths are uniformly distributed between integral ages. 

Calculate the monthly premium for this policy. 
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2. (8 points) Lorenzo is (71) and buys a whole life insurance policy with a death benefit of 50,000 

that will be paid at the end of the year of death.  He will pay premiums annually for life. 

 

You are given: 

a. 0.94v    

b. 70 0.010q    

c. 
71 0.012q    

d. 
70 11a    

Calculate the premium for Lorenzo’s policy. 
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3. Amir is (55) and buys a whole life policy with a death benefit of 100,000 paid at the end of the 

year of death.  Gross premiums are paid annually.   

You are given that mortality follows the Standard Ultimate Life Table with interest at 5%. 

 

The expenses for Amir’s policy are: 

i. Commissions of 50% of gross premium in the first year and 12% of gross 

premium in all years after the first; 

ii. Issue Expense of 78; 

iii. Maintenance expense of 48 at the beginning of all years including the first year; 

and 

iv. A claim expense of 570 paid at the end of the year of death. 

 

a. (8 points) The gross premium based on the equivalence principle is 1780 to the nearest 

10. Calculate the gross premium to the nearest 1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b. (6 points) If the gross premium was 1800, determine the expected gain or loss at issue 

of the policy.  State whether it is a gain or a loss. 
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c. (8 points) Let 0

GL  be the loss at issue random variable based on a gross premium of 

1800.  It is possible to write an expression for 0

GL  as 55

55

1

1

K

K
Av Ba C




   .  Determine 

,  ,  and .A B C   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

d. (8 points) Determine the 0[ ]GVar L . 
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e. Without doing any additional calculations, state whether the 0[ ]GVar L  would increase, 

decrease or remain the same, if each of the following occurred without any other 

changes to the policy assumptions or premiums? 

i. (2 points) The gross premium was increased. 

 

 

 

 

 

 

 

 

 

 

ii. (2 points) The claims expense was decreased. 

 

 

 

 

 

 

 

 

 

 

 

 

iii. (2 points) The first year commission was increased to 55% 
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4. Jeff is (68).  He has 1,200,000 and wants to purchase an annuity. 

 

Assume that mortality follows the Standard Ultimate Life Table with interest equal to 5%.  Use 

the two term Woolhouse formula to calculate the monthly annuities. 

 

a. (4 points) If Jeff decides to buy a whole life annuity due with annual payments, the 

annual payment will be 95,000 to the nearest 1000.  Calculate it to the nearest 1. 

 

 

 

 

 

 

 

 

 

 

b. (6 points) If Y  is the present value random variable for the annuity in a., determine the  

[ ]Var Y  . 
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c. (8 points) Jeff is also considering a certain and life annuity due with annual payments.  

The payments for first 15 years are guaranteed to be made.  Payments after 15 years 

will continue if Jeff is alive.  Determine the annual payment under this annuity. 
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d. (8 points) Jeff decides he wants to purchase a deferred annuity due.  The deferred 

annuity will beginning making monthly payments at age 80.  Determine the amount of 

the monthly payment. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

e. (4 points) From Jeff’s perspective, state one possible disadvantage of a deferred annuity 

and one possible advantage of a deferred annuity. 
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5. (10 points) Mallory is (92) and buys a whole life annuity with non-level annual payments.  A 

payment of 2000 is made at age 92 if Mallory is alive.  A payment of 4000 is made at age 93 if 

Mallory is alive.  A payment of 6000 is made at age 94 if Mallory is alive.  The payments continue 

to increase in the same pattern for the rest of Mallory’s life. 

 

You are given: 

a. 0.9v    

 

b. 

92

93

94

0.3

0.7

1

q

q

q







  

 

If Y  is the present value random variable for Bailey’s annuity, determine the [ ].Var Y   
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6. (6 points) Michael (45) buys a whole life annuity due with annual payments.  The payments for 

the first 10 years are 20,000.  The payments for the next 10 years are 10,000.  The payments 

after 20 years are 15,000 for as long as Michael is alive. 

You are given that mortality follows the Standard Ultimate Life Table with interest at 5%. 

 

Calculate the actuarial present value of the annuity. 

 

 


